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Check Homework: p 38 (11-13)

11. Causes of death 2004.

a) Yes, it is reasonable to assume that heart and

respiratory disease caused approximately 33% /____H
of US. deaths in 2004, since there is no \H&an dispase
possibility for overlap. Each person could only Other / \
have one cause of death. / \
b) Since the percentages listed add up to 66.4%,

other causes must account for 33.6% of US
deaths.

c) A pie chartis a good choice (with the inclusion
of the “Other” category), since causes of US
deaths represent parts of a whole. A bar chart
would alse be a good display.

Circu ié_t::ir'y
disease & siroke



Check Homework: p 38 (11-13)

12. Plane crashes.
Causes of Hon-Military Plane Crashes

a) Aslong as each plane crash had only
one cause, it would be reasonable to
assume that weather or mechanical
failures were the causes of about 20% of
crashes.

Percent

b) Since the percentages listed add up to
71%, other causes must account for 29% =
of non-military plane crashes. T

c) Arelative frequency bar chart is a good ) |
choice {with the inclusion of the “Not Pibt arror dmmwmmd' Mastarica| JETT— 'r:rhzrr:ﬂ;nan'
determined” category). A pie chart
might not be a good display, since several of the categories have nearly the same
percentage. This makes it difficult to compare the percentages in a pie chart.

13. Oil spills 2006.

The bar chart shows that grounding is the most frequent cause of oil spillage for these 312
spills, and allows the reader to rank the other types as well If being able to differentiate
between these close counts is required, use the bar chart. The pie chart is also acceptable as
a display, but it's difficult to tell whether, for example, there is a greater percentage of
spills caused by grounding or hull failure. If you want to showcase the causes of oil spills
as a fraction of all 312 spills, use the pie chart.



More with Contingency Tables

Grade TOTAL

| 5 4 |/ 3 \| 2 1|
. | Cal€lus BC | 76,486 | 53,467 | 53,533 | 30.017 | 94,712 | 308,218
: | statistics 29,647 | 44,884 | 51,367 || 32,120 | 48,565 | 206,583
TOTAL 106,133 98,351/\104,900, 62,137 143,277 514,798

20.%

a) hat percent of total scores’were a5?

(\l\
b) Overall, did a higher percentag or Stats students score a 4?2 ,

: o/ ) l.7% 8.7%

> 1757 N %7

c) What percencores are Statistics? ) T UH’ 0|0k).

. 5 0/
d) What percent of Statistics tests were ascoreof 1? < 2% % /%

Content Objective: | will be able to use contingency tables to analyze data and prepare it for graphical
represeﬁtation

Social Cfbje\‘nve | will work with my group members to analyze data and make it easier to understand.
e amm a
Language Objectlve | will read questions carefully so as to analyze data effectively.



ijm""ﬂna« -

CVETL IVIUIC WL COTILITIZEE J IV 1L JIL 3 —— : . .‘
°/ M 2 e TWNDEPENDENT ]
° g N Grade SI%  S53% | ToTAL |
P (R) i‘P(ﬂlfﬁ 5 \ 4 3 2 1 f!
. |Calculus BC_[| 76,486 | 53,467 | 53,533 | 30.017[| 94,7124f" 308,215 |
o (Statistics 29,647)] 44,884 | 51,367 | 32,120|| 48,5655 206,583 ?ﬁ
TOTAL 106,13# 98,351 104,900, 62,13% 143,277] 514,798
IS TN Ty T Al 79b

e) Calculate thaI distribution of scores. —> = (rond fotad
.6
5 of subtotals = 455
f) Find the conditional dlstrlbutlonr eaChOT”X;{rRi-s = 5'5 97 ¢el
206,557

g) Based on the data given, do you believe score is independent of test é

(is one easier)? 7/ 0; 54 1061%% < 90,7 !
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514,79 !

| Content Objective: | will be able to use contingency tables to analyze data and prepare it for graphical !x
representation. ,
Social Objective: | will work with my group members to analyze data and make it easier to understand. |

Language Objective: | will read questions carefully so as to analyze data effectively.




Another one... Opposite  Same No

Sex Sex Difference
Females 58 16 63 A
Males 15 13 40 5 S

5
* What percent of those surveyed found it easiest to N\"/o |
make friends with the opposite sex? o/

* What percent of those surveyed were females?

* Calculate the marginal distribution of gender.

* Find the conditional distributions of friend types for
females.

* Do you think “with whom it is easiest to make
friends” is independent of gender? Why/why not?




Contingcncg table Practice
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Content Objective: | will be able to use contingency tables to analyze data and prepare it for
graphical representation.

Social Objective: | will work with my group members to analyze data and make it easier to
understand.

Language Objective: | will read questions carefully so as to analyze data effectively.

Essential Question: What questions can | answer using data that is arranged in a contingency
table?
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The homework is &
page 41 (28, 29) J&




